EN You can find safety information at www.act-connectivity.com/safety

NL Kijk op www.act-connectivity.com/safety voor de veiligheidsinformatie FR Vous pouvez trouver
des informations portant sur la sécurité sur www.act-connectivity.com/safety IT E possibile trovare
informazioni sulla sicurezza sul sito www.act-connectivity.com/safety DE Sicherheitshinweise finden Sie
unter www.act-connectivity.com/safety ES Puede encontrar informacidn de seguridad en www.act-
connectivity.com/safety PT Pode encontrar informacdes relativas a seguranca em www.act-
connectivity.com/safety HU A biztonsagi informaciokat a www.act-connectivity.com/safety oldalon
taldlhatja meg CZ Bezpecnostni informace mlzete nalézt na adrese www.act-connectivity.com/safety
DK Du kan finde sikkerhedsoplysningerne pa www.act-connectivity.com/safety NO Du finner
sikkerhetsinformasjon pa www.act-connectivity.com/safety SE Du hittar sakerhetsinformation pa www.
act-connectivity.com/safety FI Turvallisuustiedot I6ytyvat osoitteesta www.act-connectivity.com/safety
Sl Varnostne informacije so na voljo na naslovu www.act-connectivity.com/safety GR Mropeite va
Bpeite Mnpoopieg aopalelag otn SlevBuvon www.act-connectivity.com/safety BG MHdopmaums 3a
6e30MacHOCT LLie oTKpueTe Ha www.act-connectivity.com safety PL Informacje dotyczace
bezpieczerstwa znajduja sie pod adresem www.act-connectivity.com/safety.

EN For service, manuals, firmware or updates visit www.act-connectivity.com

NL Voor service, handleidingen, firmware updates bezoekt u www.act-connectivity.com FR Pour
I'entretien, les manuels, les mises a jour du firmware ou I'assistance, visitez www.act-connectivity.com
IT Per servizi, manuali, aggiornamento firmware e supporto visitare www.act-connectivity.com DE
Dienstleistungen, Handbticher, Firmware-Updates oder Support-Dienste werden unter www.act-
connectivity.com angeboten ES Para obtener asistencia, manuales, actualizaciones de firmware o
soporte, visite www.act-connectivity.com PT Para assisténcia, manuais, atualizagdes de firmware ou
apoio técnico, visite www.act-connectivity.com HU Szerviz, kézikonyek, firmware-frissitések és
tdmogatds Uigyében Idtogasson el a kovetkezé oldalra: www.act-connectivity.com CZ Bezpecnostni
informace muzete nalézt na adrese www.act-connectivity.com DK Du kan finde sikkerhedsoplysningerne
pa www.act-connectivity.com NO Du finner sikkerhetsinformasjon pa www.act-connectivity.com

SE Du hittar sakerhetsinformation pa www.act-connectivity.com FI Turvallisuustiedot 16ytyvat osoitteesta
www.act-connectivity.com SI Varnostne informacije so na voljo na naslovu www.act-connectivity.com BG
VIHpopMaLs 3a 6e30MacHOCT Lie oTKpheTe Ha www.act-connectivity.com GR Mriopeite va Bpeite
TANPOPOPIEG aopaAelag otn SlebBuvon www.act-connectivity.com PL Informacje dotyczace
bezpieczenstwa znajdujg si¢ pod adresem www.act-connectivity.com.

5 Year Warranty  ACT, Koolhovenstraat 1E, 3772 MT Barneveld, The Netherlands

EN Made in China

NL Geproduceerd in China FR Fabriqué en Chine IT Prodotto in Cina DE Hergestellt in China ES
Hecho en China PT Fabricado na China HU Kindban készilt CZ Vyrobeno v Ciné DK Fremstillet i Kina
NO Laget i Kina SE Tillverkad i Kina FI Valmistettu Kiinassa Sl Izdelano na Kitajskem BG MpoussegeHo
8 Kutaii GR Kataokevaopévo otnv Kiva PL Wyprodukowano w Chinach

0" - 86" / VESA

t- Mobile Heavy-Duty TV Cart
5

975mm
1500mm

Floor to center TV (VESA 400)

x g &

Too long _Too Short

! 1

! i

T vs ! ME |
Q%M-Fi > M-F |
~ | !
2ol iBpgmc |
985 MH @Bg m_ﬁ i

Pl
|
e

Note: If the caster can't touch the
ground, joosen the Jower nut as shown
to adjust the caster to proper position,
then tighten the upper nut.

\
|




A (x1) B (x1)
C (x4) D (x1)
E (x1) F (x2)

G (x2)

A

H (x4)

& & —

1(x2) J(x4) K (x3)

L (x8)
M6x55

P (x8)
M5x10

@ )

M (x4)
M6x10

S5S—>

Q (x1)
4mm

N (x4)
M6x16

R (x1)
17mm

O (x16)
M6x12

o

M-A (x4)
M5x14

g Qummm G Jummm (<o) @) Q)

M-B (x4) M-C(x4) M-D(x4) M-E (x4) M-F (x4) M-G (x8) M-H (x8)

Méx14 M6x30 M8x30 M8x50 D5-D8  Q15x@8x5 QD15x@8x15

Note:
Install the screws but do not tighten them.

Note: The Component A and B
aren't interchangable.

(TS

Lock the brakes on the casters to avoid any
sudden movements during installation.

.
e Tighten the four

screws in step 2
i
,I @
I




